Take-home portion Final exam.  507B  Winter 2009     


Take home portion of the final exam for Accounting 507B, Winter 2009.  

It is worth 10 points (50 points in-class exam + 10 points take-home = 60 points total).
The due date is Monday, March 16, 2009, 4:00pm.  It should take less than 1/2 hour to complete.
Please complete the following and email me the answers.  Do NOT attach the answers to an email.  Simply put the answers in the body of the email (I want to avoid viruses).  I will not open attachments.

1. Controllable revenue is included in a performance report for a:


Profit Center
Cost Center
A.  
No
No
B.    
No
Yes
C.  
Yes
No
D.  
Yes
Yes
2. The TOLENTINO company has two divisions: D1 & D2.   D1 is in the United States and D2 is in Germany.  D1 “purchases” an intermediate product (P1) from D2.  The US tax rate on corporate income is 35% and the German rate is 15%.  If the company wants to minimize worldwide taxes, what will it do with the transfer price of P1?
A.  Lower the transfer price as much as tax law will permit.

B.  Increase the transfer price as much as tax law will permit.

C.  Keep the transfer price the same irrespective of the tax rates.

D.  Not enough data to determine what the company will do.

3. Which of the following is the most significant disadvantage of a cost-based transfer price?
A.  Requires internally developed information.

B.  Imposes market effects on company operations.

C.  Requires externally developed information.

D.  May not promote long-term efficiencies.

4. Negotiated transfer prices are often employed when:

A.  market prices are stable.

B.  market prices are volatile.

C.  market prices change by a regular percentage each year.

D.  goal congruence is not a major objective.

5. AWAD Company has two divisions, A and B, each operate as a profit center.  A charges B $35 per unit for each unit transferred to B.  Other data for A are below:

Variable cost per unit
$30

Fixed costs
$10,000

Annual sales to B
5,000 units

Annual sales to outsiders
50,000 units
A is planning to raise its transfer price to $50 per unit.  Division B can purchase units from outsiders for $40 each, but doing so would idle A’s facilities that are now committed to producing units for B.  Division A cannot increase its sales to outsiders.  From the perspective of the company as a whole, from whom should Division B acquire the units, assuming B’s market is unaffected?

A.  Outside vendors.
B.  Division A, but only at the variable cost per unit.
C.  Division A, but only until fixed costs are covered, then from outside vendors.
D.  Division A, despite the increased transfer price.
6. Negotiated transfer prices are often employed when:

A.  market prices are stable.

B.  market prices are volatile.

C.  market prices change by a regular percentage each year.

D.  goal congruence is not a major objective.

7. An advantage of using budgeted costs for transfer pricing among divisions is that:

A.  overall corporate profitability is usually higher.

B.  it usually provides a basis for optimal decision making.

C.  the divisions know the transfer price in advance.

D.  it promotes subunit autonomy.
8. What is the term used to describe the situation when a manager's decision which benefits her subunit is more than offset by the costs to the organization as a whole?
A.  Suboptimal decision making.
B.  Functional decision making.
C.  Congruent decision making.
D.  Both (B) and (C).
E.  None of the above.
Use the following information to answer questions 9 and 10:  The Assembly Division of American Car Company has offered to purchase 90,000 batteries from the Electrical Division for $100 per unit.  At a normal volume of 250,000 batteries per year, production costs per battery are as follows:

	Direct materials
	$  40

	Direct manufacturing labor
	24

	Variable factory overhead
	12

	Fixed factory overhead
	50

	     Total
	$126


The Electrical Division has been selling 250,000 batteries per year to outside buyers at $136 each; capacity is 350,000 batteries per year.  The Assembly Division has been buying batteries from outside sources for $130 each.

9.  If the transfer price is set at $100/batteries, would this be in the best interests of the Corporation?  Explain why, give $ amounts?
10. Now assume that the Electrical Division has just signed a new deal to sell 50,000 batteries/year to Costco for $126 each.  As part of this agreement, the Electrical Division will have to pay a $2 million fine if it delivers anything less than 50,000 batteries/year to Costco.  The Assembly Division wants to buy 90,000 (all or nothing) batteries from the Electrical Division.  If the Assembly Division manager and the Electrical Division manager are allowed to negotiate a transfer price, what is the min. and max. transfer price?
